## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving Pisinemo District FY 2008 Budget and Authorizing Carryover funds in the amount of \$25,830.36)

RESOLUTION NO. 07-698

1	WHEREAS,	Tohono O'odham Legislative Council Resolution N	No. 07-461 approves and authorizes				
2		the FY 2008 apportionment of gaming revenues to	the districts by equal distributions				
3		among the 11 districts of the Nation; and					
4	WHEREAS,	a draft FY 2008 budget in the amount of \$1,218,812	2.14 was presented to the Pisinemo				
5		District Council for review, comment and recom	mendations; and				
6	WHEREAS,	the draft FY 2008 budget was also taken out to	the communities of San Simon,				
7		Pisinemo, Santa Cruz, Kupk and Dirtburn for re	eview and comments and brought				
8		back to the Pisinemo District Council for action; and					
9	WHEREAS,						
10		funds to supplement its community budgets; and	_				
11	WHEREAS,						
12		District Council has confirmed that sufficient funds are available within the Districts					
13		account to cover both requests; and					
14	WHEREAS, the FY 2008 budget is distributed as follows:						
15		Salaries	\$515,778.56				
16		Fringe Benefits	\$134,102.42				
17		District Operations	\$393,100.80				
18		Community Budgets	\$80,000.00				
19		Santa Cruz Community FY07 Carryover	\$15,830.36				
20		Pisinemo Community FY07 Carryover	\$10,000.00				
21		Pisinemo Development Authority	\$70,000.00				
22		Total	\$1,218,812.14				
23	NOW,THER	EFORE, BE IT RESOLVED that the Tohono O'odham L	egislative Council hereby approves				
24	the use of \$25,830.36 from FY-2007 Pisinemo District Carryover funds to be divided						
25	between Santa Cruz Community in the amount of \$15,830.36 and Pisinemo						
26	Community in the amount of \$10,000.00.						
27	BE IT FURTHER RESOLVED that the amount of \$25,830.36 from FY-2007 Pisinemo District						
28	Carryover funds be added to the \$1,192,981.78 from FY-08 Gaming Distributions per						
29	district for a total budget of \$1,218,812.14 for Pisinemo District.						
30	BE IT FINALLY RESOLVED that Tohono O'odham Legislative Council does approve the Pisinemo						
31	District FY 2008 Operating Budget in the amount of \$1,218,812.14 and authorizes any						
32		necessary employee compensation to be retroact	tive to October 1, 2007.				
			1				

	RESOLUTION NO. <u>07-698</u> (Approving Pisinemo District FY 2008 Bud \$25,830.36) Page 2 of 3	lget and Authorizing Carryover funds in the amount o
1 2 3 4	of <u>OCTOBER</u> , <u>2007</u> at a meeting at which AGAINST; <u>-0-</u> NOT VOTING; and <u>199.2[05]</u> A	ne Tohono O'odham Legislative Council on the <u>23<sup>RD</sup>.</u> Day a quorum was present with a vote of <u>2,335.3</u> FOR; <u>-0</u> BSENT, pursuant to the powers vested in the Council by titution of the Tohono O'Odham Nation, adopted by the
5	1	3, 1986; and approved by the Acting Deputy Assistan
6		March 6, 1986, pursuant to Section 16 of the Act of June
7	7   18, 1934 (48 Stat. 984).	
8	••	OHONO O'ODHAM LEGISLATIVE COUNCIL
9		
10	II .	1/acalles 1/2001
11 12		erlon M. Jose, Legislative Chairman
13		
14	JI	Alphay of October, 2007
15	11	, 2007
16	<b>11</b>	
17	ii e	
18	11	
19 20	June So So.	
21	II	y y
22	2 33 044	
23		
24 25	II .	unite the office of the Chairman of the Taker of Oldham
	Salu Resolution was submitted for approv	al to the office of the Chairman of the Tohono O'Odhan
26 27		Article VII of the Constitution and will become effective
27 28		
28		o either approve or disapprove it within 48 hours o
<b>29</b>	11	
30	ll .	
31		OHONO O'ODHAM LEGISLATIVE COUNCIL
32	- 11	
33	11	
34	II	Legan Jos
35	ll l	erlon M. Jose, Legislative Chairman
36	11	V
37	11	,
38	3    ,	he <u>} 9</u> day of <u>OC fr bu</u> , 2007
39	O   [V] APPROVED on t	he <u>}7</u> day of <u>()C /7 ///</u> , 2007
40	)    <i>(</i>	
41	I ∥[ ] DISAPPROVED at ∠	2:05 o'clock, <u>f</u> .M.
42		$\lambda$
43	3	
44	<b>1</b>	1 XX / 1 Vh
45	5    New	NORRIS, JR., CHAIRMAN
46	б ∥ тон	IONO O'ODHAM NATION
47	41	
40	<b>、</b>	

Returned to the Lo	egislative Secr	etary on	the <u>21</u>	day of		
Ochha	, 2007, at	330	o'clock,	<u>Р</u> .м.		
. /						
Juna J	ha					
ucille Lopez, Acti	ng Legislative	Secreta	rv			
			- •			

ACTION: APPROVING PISINEMO DISTRICT FY 2008 BUDGET AND AUTHORIZING CARRYOVER FUNDS IN THE

AMOUNT OF \$25,830.36

MOVED: COUNCILMAN CHESTER ANTONE

SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: (

**OCTOBER 23, 2007** 

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 316.9	FRANCES MIGUEL     (Roberta Harvey)	158.45	X			
J10.7	2. FRANCES G. ANTONE (Absent) (Vernon Smith) (Present)	158.45	X			Х
CHUKUT KUK 264.8	1. ETHEL GARCIA	132.40	x			
20110	2. VERLON M. JOSE	132.40	x			
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	x			
227.9	2. CYNTHIA E. MANUEL	113.95	Х			
GU VO 199.2	1. GRACE MANUEL	99.60				x
199.2	2. MICHAEL FLORES	99.60				X
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			
172.0	2. SANDRA ORTEGA	86.00	x			X
PISINEMO	1. CHESTER ANTONE	91.20	x			
182.4	2. GERALD FAYUANT	91.20	X			
SAN LUCY	1. LORRAINE EILER	90.55	X			
181.1	2. GLORIA RAMIREZ**	90.55	X			
SAN XAVIER	1. FELICIA NUÑEZ (Adam P. Andrews)	98.25	X			
196.5	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	X			x
SCHUK TOAK 154.6	1. FRANCES B. CONDE (Frederick Jose)	77.30	x			
154.0	2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	Х			
SELLS	1.KIMBERLY LISTO	222.35	х			
444.7	2.EVELYN B. JUAN MANUEL	222.35	X			
SIF OIDAK	1. WAVALENE ROMERO	97.20	X			
194.4	2. MARY LOPEZ	97.20	X			
	TOTAL	2,534.5	2,335.3	-0-	-0-	199.2[05]

<sup>\*\*</sup>PASSED VOTES